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(07} [fthe lime taken by a train of length 30 m 10 pass a signal posl, is 4 seconds. Find the speed al which the
(rein travels.

Find the length of AB with the help ofthe information given in Ihe figure.

(09 The lengthofa prism with triangular cross section of area 20cm®, is 12 ¢m, Find the volume of the prism.

[2em

N

2
(t0) Simplify. = *—

(11) Findrhesolutions ofthe equation (x- 1)}{x+2)=0

(12} Find «"avd y° based on the information givenin the ligure,

(13) The perimcter of 1bo semicircular seetor given in the figure is 36cm. If the arc length is 22em Nind the
radius. ‘

3 1_1
{14) Solve. E';=T
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{15) Findx", basced onthe inforination given in lhe figure.

{16) xandy are two poinls located un the horizontat puth 1'Q. A vertical post, whose top is R, is a1 P. The angle
ofelevaiion of R from X is40”, Ilhe angle of elevation of R from y is 20°, Mark y on the path in the given
[lguwre., '

Q

(17} ITone ol the factorsof x*-2x-3 is (x-31. Find the other factor.

(18) The L.C. M oflihe two wcrms 6xy’ and__1__] y is, 6x’y". Insert a suitable number and an algebraic
term fur the blank cages given above,

{19) Findthe curved surface area of a cylinderof radius 7em und helght (0¢m.

' (20) The centre of1be circle is "O". Find x° based oa the informativn given Inthe Migure.

(21} ABCandADC are congruenttriangles. Regarding the lriangles three expressions are given below, Pula v mark in

the box in froncoleach correct expresslon and puta "% mark in the box in ront of'each incorrect uapressioa.

ABC and ADC rriangles are congruent under the R.H.S case

ABC and ADC wiangles are congruent under the 5.A.S cose
AB and DT are parallel.

—LC
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(22) Wrile the equation of the siraight line graph given in the figure..

l
|

-
o
2 3 A

(23) Find x° basedon the information given in the figure.

A

(25) The centre of the ci;“cle, "P" Jies on the line AB. Using the knowledge of loci show Ihe construction
lines that haveto be used (o find "P"
A
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Parl B

{01) A laborer was able to dig —5— of the toial depth of a well in the first dm_r -— of the remaining depih in the
second day, Theiask was compleled inthe third day,

(i) Findwhatfraction ol'the totai depththat hed 1o be dug after finishing the work in ihe first day.
{02 marks)

{ii) Find what fraction ofthe total depth wasdug in the seeond day. {02 marks}

{ii)If 1he remaining 2 meters were dug in the 1hird day, find 1he total depth of the well, (03 marks)

(iv))l the labourer had charged Rs 1000 per metre for the first five mertes and Rs, 2060 per metre for the

rest of the depth, Fiod the (olal amount of money paid for digging the well,
{02 marks)

(02) When a motorcycle isimported, 25% of its value has (o be paid as eustoms daty.

(i) how much duty has io be paid when a motorcycle ofthistype of value Rs | 80 000, is impored.
{02 marks)

{ii) Wharis rhe cosi ofthe motoreycle with the customs duty included. (02 marks)

{ili) Afler paying cusioms duty and other charges. the cost of the motor cycle is Rs. 2506 000, If VAT of 15% is

charged on allthese expences, fiad how much money charged as VAT,
{02 marks}

(iv) Supun intends ro buy the motoreycle. So he takes a ioan of Rs 300 0006 from a certain financial institute at annual
simple interest rate of 4%, promising Lo settle the loan in five years by paying equal monthly insteliments with
interest, Find the menthly installed thm supun has to be paid. {04 marks)
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{03) A square shaped flower bed AECD of side leagth 28m, is shovn in the tigure, APQ and ADB are two
gectors wilh the centre "0". The flower bed is separated in (o three parts by the arc of the seciors, Red,
yellow and while flower planis have been grown seperalely in Lhese parts as shown in the figue

A (i) Find theareaol'the square shaped llowerbed. {02 miarks)

(ii) Wha;l is the leagth of'the arc of the scetor hat red ower
plants are grown. {02 marks}

B

4

{(i1i) Findthe areaofibe part thar whie flower plants are grown. (03 marks)

{iv) Byconstrucling asuitabie straight line instead of'the arc DB, obtain a part of right angled triangular

shape with DC as its one boundry and equal in arca tothe pan thai while flower planis are grown.
{03 mucks)

{04) The following table, the pie chart and the explanations provide the information on the subject sireams
studied studentby thestudentsin A/L cissses inacertain higher educalion inslilute.
e Noofstudents in arts seclion isthree times the no of siudents in mathematics - science section. .
o The sum ol the number of students in commerce section and language seclion is equal to he number of

studenls in act seetion.

slream maths - scignce {|  Commerce | . Tecnical | Languages

no of SIUHENTS | evivnersnmmsrrsmsiiis 35 40

{I) Complete the blanks in the 1able. {02 marks)

{11) Find1heiolal number ofsudenis sludying in A/L classes in lhis inshinuee. : (02 marks)

{ili)Using the pie char and the information given above answer to the questions below.

{a} 'What isthe magnitude ofthe an'g“lé atthie centerthat has obe allocated Lo
dengle poe student. (02 marks)

{b} Which stream of sludents are denotcd by Ihe seclor A,
B smd find lhe ma gmtude nI'lhe anglearihe cenmre'in the: secmr "A" (02 marks}

,
T2 T O T L T S TN 1, Y
ke . — ‘

{c} I five studenis of commorce seclion rransfer Lo the technical seetion what would be the engle a1

the centre of the seclor which denotes the new number of students in the lecbnical section,
(02 marks)
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Southern Provincial Department of Education

Year End Test - 2017

Grade - 10
Mathematics 11

INAIME T NUEN NUMEICT ©oevisieseeenes e ee e ereesemensesssses e toes s s sesses Time : 03 lwurs

* Answer 10 questlous selecting 5 questions fraw part Aund 5 questions Irom parl B3.
* Eachquestion carrics 10 marks
* Thevolmneofacube ofside lenpth "a" isa’

* Thevolume ofu right circular cylinder of base radius "'r* and heigbt "h™ is zr'h

Par A
Answer 5 quesiions only.

(OF) The assessed annual value of & certnin house is Ks 72000, The relevant provincial council instilnion
charges 8% ol the value of the house as rates. Ai ihe end of the vear the vwner of the house sold it and
received same anountel money, But he had w pay income rax for the money he recelved auihe rate of 4%
and the X lree income is Rs 500 000. The income 1ax thar he paid is Rs 28 000,
3how that the amount ol moncy remained afler paying income tax and rates is Rs 1166240,

(02) Anincomplele wabie prepared o draw thie graph of the funcliony ={x+2) {x- 1)isuiven below.

% S0 -2 -] 0 | K] 3
{x+2)

(x-2)

Y

(i) Copy the table arud complete U
(i)} Using1he suitabie scale draw the praph ofihe above funelion,
(lii} Usingthe graph tindihe interval values ol x onwhich the function is negalive and increasing,

(03} Information about Ui hurvest of sal obiained Juring the first quaner of the year in a certain salitern au
Hambanthota, is given in the table below. (200 - 250 in the able indicales (e interval that consists of the
values equal or preater than 260 and tess thun 230}

amount of sal

. 200-250 | 2506100 | 300-330 | 3504000 | 400430 | 150-500 350600 | 600-630
{melric Lons} ,

Mo of days ' . 12 2d

th  Whatisthe model ciass of the distriburion.

(1) Taking mid value of the model ciass as the assumed mean, find the mean amount of sail produced a
day in the first quaner oNthe vear.

il TF1le production cost of one metric ron of sah is Rs 10 000 and the sclling price of one metric ton of

saltis Rs40 000, find the profitahat can be gained a day in this quaner ol'the vear.

O Grade 10 - rathdrwaues 11 Smakern Pros mce



https://pastpapers.wiki/

3 ! 1
©04) @ Sobe. TTVCHT'T

{h) The length omd the breadth of a reclanguiar paper are X and y .ilicis cut lengrhwise (o oblain bwo

(03) ()
(h)

equal parls as shown, the perimeier of one parl is 12cm. If It is cut breadtbwise 1o obtain iwo equal
parts as shown, the perimeter of one part is 28¢m,

!
il Construcl two simulianeous equations using the information above, containing xandy.

(ip By solvingthe equations find the lengthand the breadth ofthe inilial reclangle.

Solve the inequatity 5-2x < | and represent the solwlionsona number line.

Kasun and Ameen select 2 sane number o do some mathematical activity. Kasun adds 3 1o the

numberand squares the answer. Ameen subtracts 2 from Lhe number and also squares e answer.

tii By laking x as the inilial number that Kasun and Ameen stlected, write two quadratic
expressions separately thal Kasurand Ameen obtained as their final answers.

G [fihe sum of the final answers is 97. show that the sum of the quadratic equations menuoned in (i)
is given by the equation x*+x-42=0

{iii) By soiving 1be quadratic cqualion in(il), Find the number selected by Kasun and Amecn.

(06) The 1op of the lelephone exchange tower on lhe horizontal ground has an angle of elevation of 60" and 1he
botiom has an angle of depressionof 40° from 1belop ofihe another building of heighi 20m.

t
(i)

Taking ! cm o represent dmy, Draw a scale diagrani,
find the aclual distance berween 1he lelephonctower and the building.

Giih lind the height ofthe 1elephone exchange tower, in meters.

PariB

3,7 1L 15,

(W
iy

What progression do the nimbers follow?
Find tho 23rd lerm ol the progression.

iy show thatthe sum of lirst "n" terms saislies,  $,=n(2n+1)

{iv) Show that the progression oblained by adding 2 Lo cach lerm of Lbe inilial progression, is another

arithmelic progression whose common difference is 4.

(08) Usc only the siraight edge with a cm/mm scale and a pair of compasses (or 1he following constraclions
showtheconstrugtion liags clearly.

(i

{ii)

Construct the iriangle ABC such that AB=AC =6cm, and CAB=60"
Construci 3 line through C, parallelio AB.

titd Construct the locus of 2 poini equidistant lo AC and AB o meet BC atE and 1o meet the parallel linc

construoted in{liyat D.

{ivy Delermine, giving reasons the magniiude of AER.

v}

Wrile Lhe suitable name for the quadrilaleral ABCD.
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(09) I[nformation on 24 students in a certain mixed school who are qualified to enroll in a National coilege of

Education Lo follow mahematics stream and science siream Oul 0Ff24 swidcnts 10 are boys.

i)
iy
TH

livl

)

{10} (a)

(11} Thelwochords SR and i'Q) intersect perpendicularly at T such thay
TP<TQ.Copy the diagram given and produce TP1o X suchthat QT =TX
Show 1hat 5P produced is perpendiculario RX,

£

Studenis enrolled
——{Dr science siream

Whau arc the values denoled by x and .

Find the no ol boys who enralled for mathematics siceam.

Find the lolal no of sludents who enrolled (or science stream,

Copy the Venn diagram above and naming lhe iwo seis as "boys" and “student enrolled for
mathematics stream”, insert the number of students belonging to each region using Ibe infonmation.
Shade the region Lhat represents (e girls whoenroied (or mathematics stream,

An ancient cylindrical coin of radius r and Ihickncss-% is found through a cerlain excavation

launched by an archaeclogical department in $ri Lanka. Ifthe volumie of the meral made the coin is

.
V", show thaer 257

W ¥=2120mm’ and n=3.14 find the radius of the coin using the logarilhmic 1ahle ro the nearest

[

whole nuinber.

Q

{12) The diagonals of Ibe parallelogram PQRS inwersect at "0". A and B are lwo points lie on PQ and QR
respeclively atany pface onthem. AD produced meels SR at C while BO produced meets SPaiD,

(i

i)

tiiiy

(iv)

Copy the ligure and indicate tho information given above. e

R
Showthal AAOQ= aASQC

Showthat OB=0D

i"rovethal ABCDisa paralleiogram.
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